ES302 Quiz 3 Open Book Problem Solving (30 Pts) Name %C’Ej;)/

1. You are located at point A, at a field site. Point B is located 8.3 km directly north of your position. Point Cis
located 11.2 km directly west of Point B.
_Drawa sketch map showing the relationships. {2 pts}
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v C b. Use a trigonometric solution to determine the compass Azimuth bearing from your position point A to
3 point C. Show all of your math work and trigonometric relations. (3 pts)
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V¢ Using a trigonometric solution, determine the distance between point A and C in kilometers and feet;

show of your math werk, trigonom relatlons and unit algebra. (3 pts) pm—"
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2. Given the foilowing longitudes and latitudes of positions on the Earth’s surface:
a. convert to the following degrees-minutes-seconds formats, to decimal degrees {Show all of your math
work) (3 pts}):
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b. convert to the following decimal-degrees formats, to degrees-minutes-seconds {Show ail of your math
work} {3 pts): ) 3 o ("
Longitude:  123.035095° W Longitude 25" 2 L W

Latitude: 44.942898° N Latitude Y® Skl 34"\
What is the name of your geographic location? g ﬁLVM i MFZ)(NV
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3. You have located three points on the Earth’s surface, using a GPS, with the following UTM coordinates, Zone
10 North, in meters:

LOCATION Easting Northing

Point A 487000 m 4868000 m
Point B 481000 m 4568000 m
PointC 481000 m 4958000 m

a. Draw a sketch map showing UTM coordinates as tic marks on the neat line boundary of the map, and the
locations of the labeled points {2 pts}. {5 F’“" L op L 4 Golm oo
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b. Calculate the straight line distance between each of the poin “RMéters and eet, fill out the data table below

(show all of your math waork, trig solutions and unit algebra) {4 pts):

Distance A-B (G0 meters 312,%)[7‘.; !ﬁlféz feet
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Distance B-C 1O (50 meters * ™ > LZ{T 32‘ 800 feet
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c. Calculate the azimuth bearings between each of the poi
work, trig solutions and unit algebra) {4 pts):
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Bearing from Point A to Point B: 770
s
Bearing from Point B to Point C: l 8 O
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Bearing from Point A to Point C: 2 ’ ( — -
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4. Your ocular height is measured at 1.88 meters and your average pace measurement.is’59 steps over 50
meters. Your job is to measure the height of a Douglas fir tree in the ﬁetd,/ujm mpass
technigues. You walk 150 steps due west of the fir tree in questlon
angle of 31.6 degrees through the view finder.

ng a compass clinometer, you sight an
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a. Draw and label a sketch of the relationships in space below, label your diagranzl withiWest to the left
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b. Using your ocular height, the clinometer measurements, and favorite trig function for calculating the
height of an object, determine the total height of the fir tree in meters and feet. Show all of your math
work and unit algebra (4 pts).
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